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Unit 7 Review — Exponentials

Solving Equations Review:

1s

3:

78

(l’l( d4vy a5 (%)

93x+|6 = 81x+§ D 253"’”4 = 125
Bve
4 i -.")1'(”6 51,('5;"~b> 5’5

v+l = 2%+ 1O 7
ﬁ G’“:& +3.+%

\3,:_,:{?” + ¢ v )_I_L
3 4'\‘2< 37"‘ 4, 1624\' = 64 CD

l\l(‘ll\ a qts)

“lx) ¢ -x

44\' - 32\‘%3 3 7—\-6 g 7.\1(\

%xz 5¢+15 L A als

@ 2= L\
'S

Geometric Sequences Review:

1. Find the third term of the sequence whose first term is 10, and the recursive formulais a, = 15(a, ).
1 2 3
10 | 155 C
2. Write the Explicit (closed) For e 20'" term of the sequence 3, 12, 48, 192, ...
n-1 )
3 - ;
O = 3(4) ) >
3. Write both the explicit (close&h)mula for the following sequence: 42, 336, 2688, ...
Y
| -\ &\ =
a)’l . 41(6\3 a - %(c*r\-l\
4. Write both the explicit (closed) and recursive formula for the following sequence: 1250, 250, 50,...
0\, ”,50('L ~ 0, =1250
= 5
il an = Jé(an -l\)
5. Write the explicit (closed) and recursive formula for a geometric sequence whose 6 term is 4 and the
7% term is 2. vl
B, 128 (%) 0= ne
(Y 88 L ) i Y
mel 3216 € 4 2 i+




® %= npeyt )

7. Find théﬁ"-ié‘r“m‘ofthesequence——-Q",fgj—f;2,

)
O -2(u)" = €%5999349%L

Applications Review: v=a(l+r) A= P(I + LJ A= Pe"”
n

6. Write arule to find me.ntMemece whose first term is 12 and the rate is 15.

1. Luke deposits $2000 into a bank account that pays 5% interest compounded monthly. Find the balance
in the account after 4 years.
g + O * ll( -
2000 (1422 )
"

=§ 244119 )

2. The value of Barbie Real Dream House is $12,500,000. The house is in a prime location and appreciates
at a rate of 7% per year. How much will the house be worth in 5 years?

12 500000 ( V4. 0‘1\5 4 \7,’573\ )%C{(p L) 4 \/\;

—

. 3. A certain radioactive element decays at a rate of 21% per month. If the starting amount was 32
ounces, how much will be left after 1 year?

2l \—.L\SL -

I\

4. How much should Alex deposit into an account that pays 5% annual interest compounded quarterly so
that she will have $10,000 in 6 years?

q ==
lo0o0 (H'f\ () =3%1%4971% 9) \

5. Giveny = 3(1.25)* Determine if the function is growth or decay. Then determine its growth/decay
factor and its grovgth/decay percent.

ST / Fodor = 25

6. Matt bought a new car at a cost of $30,000. The car depreciates approximately 13% of its value each
3 ?
year. Decay Factor? Decay Percent: (4 = 3 g ,100 .

30,000 ( | -3) = 2= 40707.00

—D%W‘) {au‘}‘()/ R ’?muvd‘ :‘3./\




